EARAROBEEIERT — 2 N— IBISH —F

20185F8H23H (K) 11EEZHE3H

m TI—HILETER A2 4+S5H— ESRE R
[A&4£] 1 7 :600,000 3 ~ 23#&:150,000 @ ~ 33#&:72,000 3 ~ 43#&:48,000 ™ . 5 3 :30,000 @
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
¥ = . i1 _ i
YHLF— XL — 44 5?%%%?&& 1.(4_4).0 1-1-1-1 | 40.7 2 449 /T\F:;T;Z (BHE)
R:7UF—-v B:oLN—-21-3> (#5) #XE IV T4
> . o6 | FTERRA 1:44.3 2-2-2-2 | 40.8| — 1 496 | FHES (BEHE)
TAF I 56.0 (1 1/2) 0 alllERF
R:igUN BAEU—Y2T B 77—54
. R > 5 | LA 1:45.0 6-6-6-3 | 40.6| — 4 496 | SRz (BHE)
Trh—-=r “ 7 86.0 @ 4a) | (F) J PN
RZRFAT—IE B3RS F—L— - T/t T7—LERE
. FLEFRE R : 54— — AMEL (BHE)
AR RTANT b "B R 1'(435)'7 AR R ’ g‘) HEER
ANY w4 =7 B:vaUdAS e HBITr—L
. o8 | DNEEEE— 1:46.1 7-7-7-7 | 40.5| — 7 476 | HBEBXR (BEHE)
I-22xvyTR 56.0 © 6 | A x=Z
A:Dalakhani £ :Midnight Angel Newsel s Park Stud
Doy 5 Sy /27 B 5 | KRR 1:47.8 4-4-3-5 |43.9| — 5 448 | HFLE— (BEHE)
6|11 |F—T>T 4~ #53.0 ® 1) | EEEE
R:271)—>k—A—- B:%—v3A AR
5 . 9 | SHEKX 1:48.6 3-3-5-6 |44.4| — 6 500 | HFLME— (BEHE)
71707/ 77>FvM1X 56.0 @ (7) | WEEER
gL FTw ML B TLARAYIIL ES4HTT— I
@ 1 — S —EBIEf
13—7+— 3,5,7,1,4,2,6
A== 3,5,7,1,4,2,6
Jol=5r= 3,5,1,4,7,2,6
43—F— 3,5,2,4,1,7,6
[ N3
BB 3 240M 714K 3-5 110H B = 3-5 170H 3EHE 2-3-5 460M
8 B 3 1509 =3 250M B H Bgd 410M K31 3-5-2 2,000
5 100M 2-5 180M

ABICOVWTRDTEEERROODE. TR LIV,




